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Time : 3 Hours Marks ;- 200/100

Instructions :

(1) One mark will be awarded for every correct answer for post code 11, 51 & 52 and falf mark
for post code 12, 13 & 14. There are no negative marks,
Ho8 @26 aawi Y L 11, 5] Sodin 52 wf o8 Srdy, o FE 12, 13 dobadn
14 538 «d Srdy) Sircnoddo adrbdiod. Judad Gerd) ¥ ol e DI
(11} Choose the correct or most appropriate answer from the given options to-21e Hllowing
questions and darken, with blue/black ball point pen the corresponding it 1, 2, 3, 4 in
the circle pertaining to the guestion number concerned in the OMR £.nswer Sheet,
separately supplied to you.
Bbd adhd @6 @wH% 9dcadd SO 2GS Slreddnin dq SNFN TAL Srlod
wos 1, 2, 3 4 S 23 OMR 38058 Sigaond® @d% 1 Ao N Sopgiie g
2/e78 S rowoedd LA GAGrA0D JolITM.
. Asumof money placed at compound interest tripics i <.1f in 6 ycars. The number of vears
in which it will amount to nine times itself, is
w8 Tiny 6 SoSdioreds SESHE Jordc BLLdel. v oy 9 3L Awdo SIm0L
m...; Vel \lepd > SISy
(1y 15 (2} IR (3) 9 (4) 12
2. Theannual compound intei~svon a certain sum for 2 vears is Rs. 408 and the simple interest
for the same period (L e same rate is Rs. 400. Then 10% of the principal sum
{1n Rupees) 1s
28 AR PR L RoSGT oK TosdBE SiENG dr 408 Sobotr vl ks ulserls
s:*ﬁ:m% gl 200 woood, mados rSunEt 10%, (Grodsh)
— - . = ag—
(1) 3,000 (2) 500
(3 Uy (4) 1,000
3. Atannual rate of compound mterest if an amount of money grows upto Rs. 4 840 in 2 years

and upto Rs. 5,324 m 3 years, then the rate of interest is

rosd 08 L.-Lgfﬁﬁ_'! 2.8 m;.};uiu 2 n}uu,]ﬁ"ﬂ_' 50 S 4840 Sodatn 3 desdoods
3,324 wowd, v S50

(1) 9% (2)y 12% AL 10% (4) 3%
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The compound interest (in rupees) on Rs. 25,000 for 3 years, if the rate of interest is 4%
for the first year, 5% for the second year and 6% for the third year, is

SR8 Soadide 4%, Todd JolgPo_5%. Hrdd Sulddide 6% 343LE Hurdd
coadioese dr 25.000 3 edly ﬁﬁ;‘:%. (Er2rchodt)

(1) 3.398 (2) 3.938
(3) 1.575 S (4) 3,839.50

A man borrows Rs. 3.000 at 10% annual compound rate of interest. Attne end 5Féach year
he pays back Rs. 1,000. Then the amount (in Rupees) he should pay-at the end ot the third
year to clear all his dues s

10% rodg)08 SESG BLod' w8 5g8 &r. 3.000 wiy Srifmds. ©0 Soidredo '

-

¢

(1) 3,300 (2. 2,300
(3) 1530 4) 1,683

Rs. 425 15 divided among four mn, Jive women and six boys such that the share of a man,
a woman and a boy is in the (25C 0f 9 : 8 4. Then the share (in Rupees) of a woman is
SR S
£ 0ot of wrend o g 9:8 1 4 eclgbiior S
: :;

2
wlsme, 2L e bl Blihd racdi & 4255 dZZodd. BOyER &8 2

_—

(1) 55 (2) 25 (3) 70 @) 34

Oncyean ago, the ratio between Siva's and Ravi's salaries was 3 @ 3. The ratio of their
individual salaries of last year and present yearare 2 : 3and 4 : § respectively, [f their total
salaries for the present year is Rs. 1,29,000, the present salary (in Rupees) of Ravi is

w8 RBoddido Sdo 305 bcin Jiu dew AnG 3 : 3 Bdo Joddgio Zboke BHS

Lo

Sodgido 0 SgEiS 2ore Al&es SEErm 23 S0cks 41 5. SRS SoddTRs o0
2ero Swde 6 1,29,000 wond, 82 aws), @ud 2do (rardhed’)

= Fat e
(1) 354,000 Lo/ (2) 75,000

(3) 69,000 (4)  60.000
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Ifﬂ+.-fl.'lb+-ﬂ:ﬂ+a=4‘.5:5,ﬂ‘lﬂﬂa:b:c‘=‘-
at+b:b+c:cta=4:5.6wond, a:b:c=

: : 2.0

(1) 6:5:4 (2) 7:529.
3 5:3:7 (4) 5:6:4

Two candles of the same height are lighted at the same time. The first canile 's consumed
in 5 hours and the second is consumed in 3 hours. Assuming that eacli cu>e burns at a
constant rate, in how many hours, after being lighted, was the first cand.= 3 imes the height
of the second ? .

23 I8y 8OAS Bodh FT 0™ wBF0 IDAoTD. Bk IS5 Hobeos s H6akn
Tods6 3 Hobes'ss E8aFa . B8 §T8, HEOLRS" Soudr ¢f)disos, 3OAoDS
SOITE, JY) fcbod, 38 FI8 &) Bodd 5ty I Sordiody ¢olnod?

,LU- 2.!_ : (R S
2 , : 2

(3) 2 | &4y 3

Two numbers are in the ratio 2 . 3. € each number is increased by 15, the ratio becomes
7 : 8. Then the sum of the given uurabers, is

Bodd :’anq:gm‘g_:_} NEB T SInow. @8 Dopgl 15 8o S0LIDyd T QB 7 8
e5d08. wowd DAY lﬁumsﬂ E&Jﬁﬂ .

{1! 15 : (2} 25 (3) 30 (4) 45
e _ 3231 .
If 1632 1o divided into four parts in the proportion of 2°3'3'2 respectively, then the
third part is
33 5.3 -
1632 & Seodm '35 g © S0, oldrded’ Tl ermroam e, Sods
wiio
(1) 540 (2) 432
(3) 480 | (4) 180
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In a college, the number of students studying Arts, Commerce and Science are in the ratio
2 :3:5respectively. If the number of students in Arts, Commerce and Science is increased
by 15%, 20% and 25% respectively, then the new ratio of studcnts in Arts, Cﬂmmcrcﬂ and
Science respectively, is

2.8 Eeaed” EE;, s*:&:ﬁ;, S00cin DRy WP :J:F*gvﬁ(ga: Qg Hwm 2 1300 Eg;,,
55a8) RN ToNeY P 2}.’:5'5{8?.: E'Jc:-ajg-;ﬁj S 15%, 20% Sobasan 25% o8, Skdmr
©f), S5 B0 Y ITgRe Srds IR

(1} 6:12:25 . (2 3:4:3

{3--46:72:125 . : (4) 10:12

The ratio of the mean proportional of 0.02 and 0.0¢ a.a the Geomertic Mean of
12 and 27, is

0.02 506050 0.08 © Bog), g vHIe s 3we 12 HHdcin 27e HoSEssrds -
fo A8 . _

(1) 1:9 Y 1:4
(3) 4:9 | | (4) 1:450

The ratio of males to females ixa ownis 7: 5 and the percentage of children among males
and females is 20% and 1.%. respectively. If the number of adult females is 398650, then
the total population of t'ia. town is

wf DdE0s D q;r;::b;...rv, E‘gu A8 7 1 5 Hodain 778" Hfbgen, sdboed :&f:iﬁﬁn'
20% Sobasn 10% 2 eI, SRradS edod ra::m,g 398650 ¢ ©on8, siiywo Ingo
b =

(1) 11276500 (2) 1125600

(3) 2335470 (4) 2511600

The compound ratio of the duplicate ratio andﬁi_ﬁduplicate ratio of the ratio 4 : 9 is
4:9 38 Dy, 56 ?ﬁgg ﬁ)?ﬂﬁl] :ngm?a_mj@? Docing 3g (compound ratio)
(1) 32:243 (A §:27

(3) i_ﬁ_:Sl | (:4) 2:3
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The arithmetic mean of a set of 23 numbers is 42, [f each number is first multiplied by
3 and then increased by 3, then the mean of the resultant new numbers is

“E DDBS" do 23 Jopge Bw), w08 EgH0 42, (B8 Somgte Jod, 3 Bé HBod,
S0ard o8 3 Ko 5003 ddom 5T 54 Ropge woSugtoo.

(1} 125 (2) 117
(3) 104 | (4L 129

A person divides his total route of Journey into three equal parts and accides to travel the
three parts with a speed of 80, 60, 30 km/hr respectively. Then his average speed (in kmph)
during the whole journey is

&8 938 S Basrdod Fndo SrTR) Sardo DEFS arn 0 LoD, & Surd BT e
S5DM fod 80,60, 30 8.20 K08 Hoirdorod o S o, wond Iwdo Boiroods®

@8 HHtn 3Ko (Kodas 8.80.e3¢5%)

(13— 60 (LN 0
(3) 48 ; ' _ 4y 24

The average age of three personsis <4 years. [ftheir ages are in the ratio 5: 7: 11, then the
sum of the ages (in ycars) of !s-anvi 20d persons is

SR Sg8e BAL S04 46 SoSdiTes. T6 Sakige 38 5: 7 : 11 sewd,
S06E_S0bcin Bodd Srkzo Schige dndo (Soddorees®)

1) 92 (2) 108 (3) 96 4 T2

The averaae «ge of 40 boys in a class is 16 years. One boy aged 20 years left the class
but two .2\ boys came in his place, whose ages differ by 6 years. If the average age of
all the ue's in the class again becomes 16 years, then the age (in years) of the younger
newcomer is |

&8 SEA8SID 40 So0d erend Rt Sobdyy 16 Sosdoren, 20 Soddore S0y fe
8 Tk & SEHBY SEOFT, B8 TS 6 BoSdire SArBEC LOAS 26 §4
erendy .;Sﬁlﬁ.l R SR8 BoSd wrwod Ko DD BBA 16 Sosdod
o8, 4 YIS Tos’ QD)8 Saiddy) (Rosdoes®)

(1) 21 __{’2)',,15 | (3) 16 (4) 20
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20. How many Kgs of rice at Rs. 45 per kg must a man mix with 20K g of rice at Rs. 30 per Kg

22.

23,

so that, on selling the mixture at Rs: 42 per Kg, he may gain 20% on the outlay?

B¢ a8 oi3s & %g_:l'l}}:} EOAS ?_!}_EE:‘:#.‘.- E}uﬁrg%ﬂ, 82 )08 ESJ',_-%_E_ Dend EOAN
DS I '-'..-.’ﬂg:: E008, & 5SS ) mﬁﬁrﬁh 8¢ 2.8 odlk G 42 TS edoySayds,
Jodo MFH0 W8 20% e el Sg8 Fokends? -

(1) 5 © {2) 15 ' (310 (4) 20

A vessel of 48 litres capacity is filled with certain amounts of water and ;ati i f only 40%
of the quantity of the milk and only 60% of the quantity of water are pou.=d. then the vessel
1s only 55% full. The initial quantities (in litres) of milk and water ‘n that vessel is

48 boxg FB>ds0 Ko 28 FBKH Fof arKo MO, WADS (2 DBE'EP YD, &3
® Po oSt 40%, DB FHos” 60% SrEd b GBI 55% Srgd dod
Godb. © MFS* Swodom P&, rew, i'.lq; Fodw (€000°)

(1) 12,16 - @ 20,23
() 22,26 MN2D, 23

A man buys two horses for Rs. 72,900, 1. seuls one at a loss of 6% and the other at a gain
of 7.5%. On the whole he neither p2in: nor loses. The difference between the cost prices
(in rupees) of the two horses is

w8 $58.Bodd Mo & 72,980 ok £, uE TIJ 6% S8, TodSTId 1.5%
a8 edoyw, 3wdo sof B8 'l?..]"’?ﬁﬂﬁ'ﬁ, SZoma EorSe. HE@_@ gy S
pide gy Fdo (Edruod) ‘

(1) 8,100 - (2) 10,200

(3) 15,000 (4) 2,400

The averag» monthly salary of employees, consisting of officers and workers of an
organisau.on is Rs. 60,000. The average salary of an officer is Rs. 2,00,000 while that of a
worker is Rs. 40,000 per month, If there are 800 employees in the organisation, then the

 number of officers is

SO0, S5 S0AS 28 BTN &G Bl Jo ddo & _60.000. af whid
G0, Bk ddo Bosd &F. 2,00,000, 2§ S Gng, Sk 8o Bok & 40,000.
6 Soge’ 800 H0b &d'gher &ol, Bhidyg Sopg

(1) 75 (2) 100 (3)-200 (4) 150

www.sakshieducation.com



24,

25.

26.

27.

. aksﬂe Hucation.com

Booklet Code l D

The population of a village is increased by 10% in one year and in the next year it is decreased
by 10%. If at the end of the second year, the population is 56133, then its population at the
beginning of the first year, is

2.8 rdo Gng) avTy wf JodhHdos 10% won, sHIE Jodd)Sod 10% &hsa.
Bodd If:uaﬁﬁv}murjioﬁ‘ aaer 56133 eoand, 3068 DSodddo |PrboPod’) T 2T
(1) 355700 (2) 56056
_(3)- 56700 - (4) 56744

If the price of sugar falls by 10%, a consumer can buy 22 kg more thao before. If the price
is increased by 10%, the quantity of sugar (in kgs) he could buy for *he same amount is

Bodmrd §6 10% S78, w8 DIRrHT S SndE $oB 2L 3D Iy, Fidel. &
10% 008, 63 508 o8 FHHOAS Hoserd w0 Bdod’)

1y 200 (2) 220
(3) 250 NI

If the price of wheat is increased by 25% by how much percentage a housewife must
reduce the consumption of wheat s> (na*. i.er expenditure on wheat is decreased by 10%?

Ao &8 25% D0AB, el % O nidde D ui piyd 10% 4008 3amd8, Fdde
+——— = - i = __b':.—- . o gE—— 2 o = ¥ - L]

AVBrTY) Jod o Shod Toon 33087

(1) 25 | 2) 28

(3) 30 (435

A sellshis e aas 20% cheaper ﬂ_'win B but 20% more than C. The amount (in rupees) that a
custom>r of b saves, if hé buys goods from C for Rs, 100 is

A &S Say90s BEoB 20% 85,5 6ok, C 508 20% I8y 26HK wined. B
Awg, u¥ DASrETHE CHE & 100 obs SigPer Fod, v8d s TH oy
(Erropes?) | , '

(1) 50 2) 20

Gy 40 (4) 60

www.sakshieducation.com
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The number of seats in a cinema hall is increased by 10% and the cost of a ticket is also
increased by 15%. Then the overall percentage increase in the revenue is

w8 DIErTE &V by Sopg 10% 1OAS HB00 w8 BB G Sra 15% 6A0S.
wond Jndoind worahod® wHhdy T8

@7 255 (2) 24

(3) 265 (4) 25

The shopkeeper rises the price of a shirt by 30% and then he gives a diszount of 30%.
If the original price of the shirt was Rs. 1,200, then the amount (in Rrzp=es? that the customer
hastopayis _

.8 i g wEY, Gl 30% ood, éSre 30 iﬁ!‘y::éﬁ-a@d:. R
g, waden 6 dr. 1,200 wond, J0@rAodd BoRDI0RS :-?5::% {ﬁrﬂ'ﬂﬁaﬁ:}

(1) 1.560 (2) 1200

(3 1,292 {43-11992

The marked prices of a shirt and trodsr - re .n the ratio 2 : 3. The shopkeeper gives 25%
discount on the shirt. If the total dismo e on the set price of the shirt and trousers is 20%,
then the discount offered on the trocsers approximately is

w8 TEy, S0 Fgotn VY, @SS o DA 2 3. TD SR 25%
G068 adnd. 57 L0 Fgolne 2EE5D dwdo 4308 20% wond, gotnn
S A0l Ddrdm s

(1) 15% | (2) 33.33%

(3) 16.67% W 18.5%

A person Eavé 10% of his income to a trust, 15% of the remaining to his son and 20% of
the balance to his wife. If he is left with Rs. 38,250, his income (in Rupees) is

8 935 €81 erabas’ 10% a8 LR, 1DAOS TS’ 15% 96 SSr6s, Shae
DH0S IS* 20% wED g oI, @D 5§ &r. 38,250 20O God. waD
sIaboe (rdrcheds?) | |

(1) 72,500 (262,500

(3) 69,545 T (4) 85,000

wwwlsﬂliﬁeducation.com
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The population of a village is 10,000. In a particular year, male population is increased by
5% and.-female population is incteased by 8%. If the population at the end of that year is
10,590, the male population in the village at the beginning of the year, is :

wé (rio Bwé aTer 10,000. 28 I9Y SoSHded® YHhve aTy S% wdan o
zarer 8% Hbmoxn. & Jodfoodod” adyr J_EIE_S__EI'D wowd, ¥ Joddd @rioged”
& Taooe @ﬂu BT

(17000 (2) 3000 (3) 5900 (4) 5500

A student has to secure a minimum of 35% marks to pass inan examination. IThe gets 200 ¢
marks and fails by 10 marks, then the maximum marks in that exan.'nation are

28 H65S" B s5TIB w¥ g EQ%o I5% Srdy e Fore. wsi 200 Srdy.e
Fo&, 10 Srdyen 88558 08 a8, & JHOES'D NI Nrdy e
(1) 800 (2) 1000 (3) , 500 _(4)- 600

The cost price of 8 pens is equal the selling price of 5 pens. Then the profit percent is
B dyo FHHde 5 Dine vanyd Jo J5 $208, g Tdo
(1) 50 (260 (3) 40 (4) 25

A man sold an article at ¢ loss of L 0%. Had he bought it for 20% less and sold it for Rs. 55
more, he would have made 1 puofit of 40%. Then the original cost price (in Rupees) of that

article is - |
w8 558 o8 S 10% S8 E-‘;i:-‘gﬁ- AR 20% 8858 Fa, & 35 J85d8
S T = e P — " = —
wdd oy =B, ‘edds 40% oo .;55]5. wivdy & 3P DwE sdw FHEC
o - % ——— s
(SorcioniT) ;
J],_L W, (2) 200 (3) 250 (4) 300

A profit of 20% is made on an article when a discount of 20% is given on the marked price.
Then the profit percentage made, when a discount of 25% is given on the marked price, is

BESE S5 20% B olS BSYT, w8 SPD 20% o¥o SYoB. BEBE $ED 25%
88,08 amdagd, 5B ogrdo
i

1 2
(y 8= 2 63 (3) 10 @ 12

www.sakshieducation.com
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A dealer sells a table for Rs. 7,800, making a ﬁmﬁ! of 30%. When he sells another table
at a loss of 15%, on the whole he makes neither profit nor loss. Then the cost price
(in Rupees) of the se::nnd table 15

af Bob o Dandso &r. 7,800 %o edndo ogor 30% ererd) domrdy. wdl &8
Emﬁaﬁa 5% LS ea:é::::jes: Aogo ME WEIE rPosd, SJosd B, wond
8085 Bawd Bwg FHEY (Erardhos’)

(1) 12,000 - (2) 18,000

(3) 15,000 ~ (4) 16,000

A person saves 20% of his income. [fhis income increases by 2 4. Fand he dedides to save
25% of his present income, the percentage of increase in his e2vings is

a8 58 vdd soraiods® 2 20% o ﬂa-da ©dd emoe 24% aﬂﬁé:.’::_jn:’s; ESEN]:]
soroioes® 25% wo aﬁru:&:}ﬁ'oﬁ wED s 3 wkde TEo

(]? 36 (2) 82 (21 o0 (4) 335

3k -4k 9k Tk 21k

23232 andT |san|ntegﬂr

Ifkis the least positive integer suc't thot v.:ach one of
then k% =

3k 4k 9% Tk 21k
2737472 4

ol &) rgosten wdbgiy k §d3 ¢85 Grgokpd k2=

(1) 126 (2) 504

(3) 252 (4y 144

- 154 160 136 | _

A valu. of k such that PACLNT and s Al all integers is

1316 L2 Lk P )

I: 9’ k 17 51 = ¥ Jgoswy wdogiuod k Swg), w8 Jew
17 &1 ST @) 7

www.sakshieducation.com
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6 13 15°19 5
L tion among —,—,——,—, =
4 The smallest fraction among T 18°22°36°¢6 |
11'18°22°36°6 © 23 030
19 ' 15 .
J2 36 (2) b3}
6 | | 5
@ = @ g
42. 478478+84784 = d
(1) 1326.3269633 (2) 132031
(3) 1325.13269633 | (4—1326.326963
i J 0.324%0.081x 4.624 B
T N1.5625%0.0289% 72.9x 64
(1) 0.019 ¢ = % : (2) 0.033
(3) 0.024 (4) 0.023
T » 1{ 3 3}1
] += +Ex3 F ==t} =
44’ +?nf(ﬁ i.i 15735717 14_'
P s -
% @ -5
H3 -13
B ey 4 Ts0
45. The digit in the units place of (623)49 is
(623)2e5°, sty FdoS" Hod wos
(1 1 (3
(3) 7 | 4)° 9

www.sakshieducation.com
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The three digit number with whlch 43259 must be multiplied, so that the product ends
with 437 1s -

43259 9 w8 SordoBe Hopgd’ ey 5T oyo 437 :‘i".@uﬁ@ﬁ & Sardose Sog
(1) 423 (2) 347

(3) 823 "d‘(_fl)-f"?d&

The least number which, when divided by 13, 15 and 19 leaves the remainlsr. 2,4 and 8 .

respectively is

13, 15 Sa8as 19#.15 a;'ﬁr.::-m’:mq'jés ;‘:d:a,-arr' 2,4 500050 8 o Fens e:{id 23 Somg

2
3034 (2) 3705
(3) 3703 (4) 3701

If the sum of four consecutive even numbers is 22, thon the product of the greatest and the
smallest of those numbers is

Teorh $68 $dHopge Iwdo 228 wcud, w Sopgod® K0Y Hbahn AL Jopge

ﬂeﬂ;i‘::: IR
(1) 3480 (2) 3520
(33 3240 (4) 3560

The numhcr of thrre th ‘ nmnhers that are divisible by 2. 3,5 and 7 is
Mﬂﬁh\} 7 t}'ﬂ e.r'ﬁuﬁe:ﬁ Sardose Jopge Dopg

(1) 3 L @4

(3) | @) &

The sum of the digits of the greatest number that Iaaw:s n:qual remamders when the numbers
135, 187, 239 are divided by it, is

138, 187, 2;9 o) rhodSHyd, 28 'éa-mﬁh_ e ;’}uma_ﬁ_‘ffl wose 3ngo
(1 6 2) 7
(3) 8 {49

www.sakshieducation.com
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The largest number of five digits when divided by 12, 15, 18 or 24 leaves the same remainder
9 in each case, is

12,15, 18 8o 24 e RODIIVE B8 ﬁaﬁﬁgaﬁ‘ﬁr &8 ?Ix;inia Q2T 2 wose
50% :’:ﬁq:g : '

(1) 99792 (2) 99279

(3) 99738 _ (4) 99729

If a number k is leaving remainders 11 and 13 when it divides 302¢ and 5053 respectively,
then the greatest value of k is

w8 Dogg k & 3__@2_{: SoB ok 5ﬂ§3 e erfodddydy SHnn 1! Sobciw 13 e Frenm
S0, k AR Dend

(1) 45 | (2) 0

L£3y15 . (4) S0
r ; ST
FL{;LL[ .LLL]HJ RN
4 (4202 4 6| 2% 3)
(1) 18 | | (2) 36
78
(3) 39 (4) H

The denomina‘or vf a fraction is 3 more than its numerator. If the numerator 1$ increased
by 7 and fi.= Cer.ominator is decreased by 2, the result is 2. Then the product of the numerator
and der i inator of the given fraction is

n8 D0 D o5 D oIy o83 I3 oSiu 7 bod, oy 2 &Nk
2980 2 9Hshos. w008 _r.ﬁgin Qﬁa}? c?i:aég, &3, ;’:‘Fﬁﬁuu ©30.

() 15 | 8 (2) 3

(3) 13 - 4) 40

www.sakshieducation.com
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A number when divided by 5 leaves a remainder 2 and 1f the quotient thus obtained is divided
by 7, we get the remainder 3. Further if the resultant quotient is divided by 11, we get the
remainder 5. The least among those numbers which satisfy the above conditions is

"8 Pomgdo 5B ik ST Fasw 2. Hdcn v SYS PeR) TS ok 5T Fasw 3.

Lde Sddom .:51'3;1115 Dﬂl’?&ﬂ 113 gy 51:5::1 4850 5 wond, 1 Achdred e:i;]g'.’:ﬁﬁﬁ
moppeod” 83 PDopg _

(1) 1347 (2). 962

(3) 3577 (4) 192

There are five committees A, B, C, D and E in an industry. Committee .. me=ts every second
day , Committee B every thlrd dﬂj’, Committee C every fourth da},r Cumn.ittee D every fifth
day and Committee E every Sixth day. Then the number of tires &'l the five committees
meet on the same day, in a span of 240 days is

a8 HBFRS* A, B,C, D 580t E o3 o snen aapun. £08 A 98 Sods &am,
08 B H8 Srdstien, 08 C B8 seistan, (00D @8 086, st E B8

B85 HSrIET oo, wond, 240 Swo fEPet o6 EDodes o8 G SSrdisdig
LOrgoiro RHompg

(1) 24 @) 5 3) 3 (4) 4

In a book containing 25 pages , or< sheot with page numbers on both sides 1s missing. [f the
sum of the page numbers of the remzming pages is 302, then the numbers written on both
the sides of the missing sheel » 1zt be

25 o $DAS wEGiso Gt BYo HE Soad Ko uf S EIVoSBL. JADS

oD Ko L Howgo Twdo 302 wand, §3%03d LHH akdPole b dopgwd

(1) 13,14 (2). 11,12
(3) 12,13 . @ 1.8

Wl BUE BT T R . BN R
bt — b e
12 20 30 42 56 72 90 110 132 156

—
—_—

1 10 7 11
() =z (2) 39 (3) ET .(4} e}
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The rate of interest for the first 2 years is 3% per annum, for the next 3 years is 8% per
annum and for the period beyond 5 years is 10% per annum. If a man gets Rs. 1,520 as a
simple interest for 6 years, then the principal amount (in Rupees) is

068 2 Josdyreoss SEBn DoSHTRE 3%, sKhard 3 Bosdorek poSsdhons 8%
20C 5 DoS@re Shad HosETs 10% m wobd. 6 Roddiorols w8 Sg88 SO
OGO 1520 wond, vhen o) CrSchos’

(1) 3,800 . (2) 3,040
(3) 4,560 (4) 3,500

A certain sum of money witlf simple interest amounts to Rs. 754 1> 2 years and to Rs. 873
in 3.5 years. Then the rate of interest per annum is :

%8 Q85I /raany e..“ﬁ:!i%é‘ Tod éulﬁﬁf‘jﬂ“uﬁa dr, 7565, 3.5 rmoddhores drr §73
TR ©Yded. vond HosHE S48

(1) 11% | (2) W%

(3) 13% - _ . (@) 14%

A sum of Rs. 2,200 is lent out iri o nacts in such a way that the simple interest on one
part at 10% per annum for 4 year= is ~qual to that of the another part at 8% per annum for 6
years. Then the first part (in Rupcet) is -

w8 o Dol i:"{a; ¥ 4 JSodgoos 5'31:1 ard::ﬁé, Ry oD VoSHoRE
8% &' 6 JolSdreds i ffﬁ.]ﬁ%ﬁ ﬁﬁréﬁacﬂ:gbb&, &y, 2200 “0azd) Both e
SG8 cnanth. Bdyd Fos sy (rdrches?)

(1) 1,400 - (2) 1,200
(3) 1,000 - (4) 800

A person lent a.certain amount at 5% simple interest per annum. If in 10 years, the interest
amounted to Rs. 500 less than the sum lent, then the sum lent out is ( in Rupees)

w8 DRRI0S Joayd) wf Sg8 5% Fods)0E THEGE whHyr aunds. 10 Rodgrod

. B0 ;fu&, @SYT ooiNd sy ol & Sm'és‘d&:‘iwﬁ_, BIPT 000D ) -

(Erraiyees®)
(1y 1,250 (2) 1,500

www.sakshieducation.com
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A sum of money doubles itself in 6 years at a simple interest. Then the number of years
required to get an amount that is 6 times the sum invested, at the same rate of interest, is

Sod iy 2riSGS' 6 BoSHTross BodHses. ol $8L0s’, DL oo
6 By Bndo SIS, TSRS JodGore Bopg -

(1) 30 | (2) 24
(3) 36 | 4) 18

Ramana borrows Rs. 7,000 from a bank at simple interest. After 3 years he aid Rs. 3,000
towards principal amount borrowed. At the end of 5 years from thr 1ate of borrowing, he
paid Rs. 5,450 to the bank to settle the account. Then the rate of i.-tercst he paid 15

e 8 ergoso %08 SRS & 7,000 ey Sdfana. ST Bkosd) eseos
D, Sards BolHoe KIS & 3,000 DYowrd £y bikd) &' %008 5 3
R03&)TroendE e SnAoSTds, ergotit waH it 5,450 Bomrds. wond wE%
BoDS $§dew |

(1) 4% | YN\ E%

(3) 5% _ A 9%

The time in which Rs. 8,000 will s, ount to Rs. 9,261 at 5% annual compound interest is

(1) 5 years (2) 3 years

'(3) 4 years \ (4) 2 years

5% oSEPE WESL 8,000 Srrahe Todo &, 9,261 FITIE By ToD
(1) 35 JosSgopex ' (2) 3 Jodgoren

(3) 4 B0t e (@) 2sosmes

A motu. car does a journey in 17 hours, the first half at 80 kmph and the second half at
90 kmph. Then the total distance (in kms) coverd is

w8 Sririsd 17 fobe Boiraos’, Inas Ske drod) fobk 80 8.5 IKos'Sr,
Bods Jo droed) fdotoso 90 8.2o. JKod'Ho DaSradigod. wond HarBodd Sodo
Grdo (8.50.06%) |

(1) 920 (2) 800 . (3) 1200 - (4) 1440

www.sakshieducation.com
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The distance between two stations Bengaluru and Hyderabad is 720 km. A train starts at
3 p.m. from Bengaluru and moves towards Hyderabad at an average speed of 100 kmph.
Another train starts from Hyderabad at 2.30 p.m. and moves towards Bengaluru at an average
speed of 120 kmph. Then the time at which both the trains meet, is

(1) 5:30p.m. (2) 6:00 p.m.
(3) 730 p.m. (4) 8:00 p.m.

Borberdh, Tréoers HiSe S8y drdo 720 8.5, af Beo Bokerss wargimo
3 flobots mabesdd fobk 100 8.2. ddin IKos* Trdocerd 3PS50 = RSB, &
S raoerdd” Sogrgimo 2.30 dobrwks woheodd Koty 120 8.5, Hden dKos
Tohtrdd DI IHHH. wond u To B¢ 5ORIDYR Broton.

(1) archogo 5:30 Kon - (2} &rolo@ao 6o

(3) araboigo 7:30 Kou (4) &otaen 8 Ko

A person travelled 150 l-{m.b}" car, 400 km vv v-ai and 50 km by motor cycle. For this it
took 9 hours time. If the speed of train is 4 (\me - that of the motor cycle and 2 times that of
the car, then the speed of the train (in ka5 ver hour) is :

& 558 SES* 150 8.5, Bens* 4008 Lo, S8 Akt 2ESED 50 8.5, Posrdomds.
AR89 Hobro Hfoabo HFol. Nee s Irirdd 2ES IMIE- 4 Bn S8 TG
SMAS 2 Bén wond, Beu'd A5 (fobd 8.0 oY) '

(B}~ 75 (2) 50
(3) 100 (@) 25

The value ¢* 2 for which the system of equation 3x + 2y =k, 6x+4y=>5has in finitely many

solutiony . 1s '

DAEGE S§99 3x+2y=k 6x+4y=5% wodRog s Pden Godwrnd fo kdend
3 L

(0. 5 v @, 3

4 5

pod | =

(3)

www.sakshieducation.com
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70. The'value of k for which the system of equations 2x+3y = 4 and 3x+ky = 5 has no

Tl

T

73.

solution, is

) ) ' :
20635 4 and 3xtky = S 0 SDoEGe S5 FES SEISTIB Ao, k Deod

W

1 3 O 3
]
3) @ 5

Two numbers are such that the difference of thrice the first number and four times the
second number is 3 and the sumlnf twice the first number and th=i~e *he second number 15
19. Then the smaller of the two numbers is

30885 Hopy BnE), Sarditl Jeod, Bots DSopg G007, ey T8 deode Hessa 3;
SoBcdan Tooded Doy KDNE), Lo Jend, Bods Hopg (FaE, Jord VL Deolde dndo
19 eclgistoom Dol Dopges GrTow. wowd ¢ Jord Jopgodt AHB

(1 3 | | NG

3) 3 | (2

The sum of a two digit number a=d tis number formed by interchanging its digits is 110. If
10 is substracted from the firs? Lamber, the new number is 4 more than 5 times the sum of

" the digits in the first numbes. Then the product of the digits of the first number 1s

» Bodose domg SHHGI0 IS oo HEE SrByG dohm 5% dopgy JwEo
110. 304e Homg ol 10 SRHFRIIYE 5%y 5d Domg, 3068 Sopgs ) wose
Bnaz0s 5 3h¥od 4 J58. wond Bnds Jopgd'd wcse Byo.

(1) 64 : (2) 46
(3) 1t (4) 24

The angle between the two hand of a clock at 4:30,18
4:30 % 8 Hboirdod™ Dok S0Qw SogigEemo.

A 45° R -4 R =

(3) 60° - (4) 15°.

www.sakshieducation.com
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The times between 7 and 8 O’clock, when the two hands of a clock are at right angle, is

7 5
(1) 43ﬁmi11 past 70’ clock & EEH min past 7 O’ clock

9 6 ;
(2) 11'1—] min past 7 0" clock & 54ﬁ min past 7 O clock

3 7
(3) 39ﬁ min past 7 O’ clock & 3 lﬁ min past 7 O’ clock

11
7 S080%0 8 Hobiw Bodg af ABErESNSE"™ Bodk S0 i Lm0 Bhkd dlakre

-

10 10
(4) 10— minpast 7O’ clock & Sﬂﬁ min past 7 O’ clock

7 oA {
(1) 7hobe 43— dsnires $0a8 7 fobe :3‘]"1 Ddwdren

f

9 )., 6 _
El,f?'ﬁuéau 21‘1-1* Ddndres So6cn 7 Kohe 54“1—i BRAE JIV

- 3 i
(3) 7fobe 39ﬁ Dfawdren Woctky 7 Kobe 3'1ﬁ DS0dren

10 T,
(4) 7 Kobe lﬂﬁ B o Hosesn T Hobe Sﬂﬁ QST en

A wall-clock taies 6 seconds to strike the number of hours at 6 O’clock. The time
(in seconds}t (an2s to strike the number of hours at 11 O clock is

w8 HATL0L0 6 fobeolh, Hobo Sopgi FLE NS 6 DESD. ddicho Hodiotnod.
: Sy v eyt TR 3 I we
ILAcgo, siobe JSopg FLEAE Sl Jfabe (REDHLST)

e

(" 13 (2) 10 3) 11 4) 12

(i

The date on which the third Friday in the month of January 1998 fell on
1998 2358 306' Sords HETSo sonS &b
Ur20 (2) 15 (3) 16 4) 17

www.sakshieducation.com
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A pair of months in any calendar year, in which any date in one month has the same day of
the week, as the corresponding date in the other month, are

(1) January & May _ (2) February & May
(3) March & June ' ~(4)  April & July

wl Bt Jaa a*é.:m', 088 Jods® ol arliny 805D uB G wdoglin o 55 Bods
Rodd)toS' > Sod o ud Jvew.

(1) =558, & , (2) eS8, %

() 509, @5 (4) OBS, 8
Which onc of the following pairs of years has the same caleiida ?
508 QgdS Dodg)ore adwd’, J adsh w8 57580 s uenod?
(1) 1993 & 1997 (2) 1592 & 1998
(31993 & 1998 L (4) 019 & 2000
A cistern is normally-fitted in 6 s but take: one hour longer to fill because of a leak in
its bottom. If the cistern is full, then ti:= #=e taken (in hours) by the leak to empty the
cistern is
o nE ) 88 FrErdnorr 6 ol & Nukhéed. 50 Il wdertos® &) 05 S0 odd
- oBTIE w8 ok IS Borko Biod. HEEEY dodor Gol, OF S ¢ &Y b
s3TNE &Hd dfonn Hobee)
(1) 40 Z» 42 - (3) 43 (4) 48
Two pipes can sepurately fill a tank in 10 hrs and 15 hrs respectively. Both the pipes are

opened to Sli the tank but when the tank is half fill, a leak develops in the tank through

which i -huf the water supplied by both the pipes is ge&ihg leaked out. Then the total time

- (in w2 ) required to fill the tank, is

Godh Yo EIGMT a8 Lrgofd Ssm 10Motes, 15 fobes® Jodkes. irgoto
ROJTNE Vol DYod 280 oD, B drgoe Bfic 368 Jodd ks, Lrgofes®
. Fl ' . o
! I
QGBS O So Tl pPYeo o Sobd vons HBS E:’:. Jody o F&ob. wond
Ergoly Dodadd FHedbs Indo H%cbo (Kobes?)

g ; 1
(1) 83 @ 73 (3) 8" @ 7

5,
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A, B, C are three taps connected to a tank. A and B together fill the tank in 6 hrs, B and C
together fill the tank in 10 hrs, A and C together fill the tank in 15 hrs. Then time (in hrs.)
taken by tap A alone to fill the tank, is

A, B, Cud Sord BevoneidD og Lrgofdt edoondy. A Hobdin B £8% 6 Hobierds's,
B&gain CEd% 10 Hobees i, Amoboin CEdn 15Mcbes o irgofod dodiied.
wond Feoag A w88 @ﬁrgc:ﬁ&;i‘; QoNERE Skl JHabo (Hobees?)

(1) 15 2) 10 (3) 'lﬂé @) 5%

A pipe can fill tank in 4 hrs and another pipe in 5 hrs, but a thir? ;.ine can empty the full tank
in Zhrs. The first two pipes are kept open for 2 hrs and then e 'hird pipe is also opened.
Then the time taken (in hrs.) to empty the tank, is

28 DY rgofud 4 dobods i, 2o6E DY S dokutur Jodhed. 50 Sords )
NOEIMT &) drgofod 2 Nobod® grd dabieds 2 fowe Srén 3088 ot Lo
800 wod, ¥ $HId DrdS YD Srm 830 vy @ irgosH @ sSads LR
macio (Hobyees®) -

(1) 153 ) 16 G) 18 ) 20

, 1 1 : ;o
In a partnership, Bhas.zur 1 avested 7 th of the capital for 1 th of the time, Deepthi invested

I . 1 '
'-5—111 of the capital for Eth’ of the time and Raju invested the rest of the capital for the |

whole perina. 1. they eamed a profit of Rs. 7,83,000 at the end of a period, then the share of
Bhaska~ (1.1 Kupees) in the profit is e

: 1 1
@8 griidrgdgod’, Sarodsos® "4'_'5 20800 :_1‘_-;5 Rod Bocirds i), b, Sarodlodt

| 1 i '
E;’; S0 E:a S0 JBocirdE &Y 0D WADS WredT Ingo BHATDS

Orer winwdoind. Fod 5-55-5_5 QMRS Sdhoard 508 &r. 7,83,000 erglo 57, ergfos®
TS P (ErFrobos?) | .

(1} 72,000 (2) 66,000 (3) 48,000 (4) 75,000
www.sakshieducation.com
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Ashish and Avinash have invested in the ratio 3 : S ina business. After 4% of the total profit
was given to charity, if the share of Ashish is Rs. 25,920, then the total profit (in rupees) in
that business is :

w8 Tgardod’ sad Hbdin sITRe Dinwdio D8 3 @ 5. Jwdo ordod’ 4%
$Esigineo #r, bl GwE) T 625,920 vond, e TgdEos® Indo oo

= - T e— r . - g —
(8rrafiees™)

@ 64,000 (2) 72,000 (3) 84,000 (4) 95,000

Two partners invested Rs. 1,50,000 and Rs. 2,50,000 respectively ‘na business and agreed
that 60% of the profits shouldbe divided equally between theri and (e remaining profit in
the ratio of investments. If one partner got Rs. 4,000 more t.~r the other, then the total
profit (in Rupees) made in that business, is *

28 TgrBos’ agls eriRgRnes SEHM & 1,50,600 8050 & 2,50,0000% Dinnd
28, ordiod’ 60%% JSSrSom HoESEaE, whde orrd) T8 wipado ANES
D0LESTIE JFowothBat. a rEy Ll LuddTE o8 & 4,000 D8 S 5N, w
Trgrdods Fodd Awdo ergo (Brdraien’ Lo

(1) 40,000 (2) 50,000

(3) 30,000 (4) 60,000

Sneha, Lekha, Rekha =re 19.wmers in a business. Sneha, whose money has been used for

l : ;
6 months, claims —,‘th of the profit. Lekha, whose money has been used for 8 months,

1
claims —th of tne profit. Rekha has invested Rs. 4,200 for 10 months. Then the
contribui‘on of Sneha (in Rupees) to the capital is

el a*EJﬁﬁé* "m_*t;'r, Sw, dmeo a.rﬁ#sa"mm. 0 &éméﬁz 6 Jwen "ujéogmém
. l 2

GARPRODNS 'i?l‘n’:w erdloeT* 5

o wody, &5 ﬁ*ﬁ:&éﬁa 8 Jwen SHArAond Sy erdodst

1 .
=3 Sod Sosiand. By 64,200 0% 10 Jvek Pinad DPod. wond Swrodads

4
'ﬁ:ﬂﬁ* S5o8reys ﬂ“ﬁ.}:l% (ErSrdiedst)
(1) 1,750 (2) 2,500 (3) 2,250 (4) 2,000
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A starts a business with Rs. 1,00,000. B joins him after 3 months with Rs. 2,00,000.
After 6 months, C joins them with Rs. 3,00,000. At the end of the year if they got a, profit
of Rs. 80,000, then the share of A (in Rupees) in the total profit, is

A 2B J‘Eaﬁ"ﬁ‘éﬂ g 1,00,000 & |Zrdodoord. dirdy Joe dthard o 2,00,000 &°
B u40s* dod. 6 3ve d&had &r. 3,00,000 08 C TS EDrdy. Doddorodod” &
Tgrsest & 80,0000 erdfo &, Indo wrgiod’ A T (S Srciiwdg’)

(1) 27,000 (2) 20,000
(3) 30,000 (4) 25,000

Hari and Madhu started a business investing amounts in the ati> 2+ 3, If Hari had invested
an additional amount of Rs. 10,000, the ratio of their investnan.s Lecomes 3 : 2. Then the
amount (in Rupees) invested by Hari, is

40 Sobodn Sodowa 2:3 IRBS dny Digelm Wy uf TFTIY @doDomdo.

. 10,000 o wdsy E?.l*;".t:a:héfi:n 20 Dinwdm oy wodl, T0 nipado NG 3.2
ol wond o P inwd Ty iCr oos)

(1) 12,000 o 12 15,000
(3) 8,000 - - (4) - 18,000

Varma opened a workshop i rvesting Rs. 1,00,000 dnd invested an additional amount of
Rs. 10,000 every year. A fter two years, Sarma joined him with an amount of Rs. 1,25,000.
Thereafter Sarma did ne. invest any additional amount. After completion of four years
from the openire of viorkshop, if they eamed a profit of Rs. 2,13,000, then the share of
Varma (in Rupecs) .n the profit, is .

e, 106,000 Biygnds® 38 o 36,255 Fdodod, PEtodgdEn edk wiSomr |
8. 10,000 Dtged Dipd. Bod JodgiTre shTs &, 1,25,000 3dod’ 6 ©EI&

Aok, o $HTE ) 0y I0E) o Dipwdo DT, 5, aY \FBoHoDHIE

S308 Teni HodéTres gonsHBs o & 2,13,000 orera) 2088, © egod
3Gy i (Erdrched’)

(1) 1,38,000 (2) 1,56,000
(3) 1,88,000 (4) 1,75,000
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90. Na;resh, Vijay and Madhav entered into a partnership. Naresh invests some amount at the

91.
* 440 meters and the area becomes 7200 square meters. Tn .1 \ie original length (in mitrs.)

93.

beginning. After 6 months, Vijay invested double the amount invested by Naresh and after
two more months, Madhav invested thrice the amount invested by Naresh. If they earned a
profit of Rs. 45,000 at the end of the year, then the share of Madhav (in Rupees) in the
profit is : :

S0Q, Juod, 1S ¥ gidctogest PTG, P otfodst $EG o 30 R
AR, 6 Jve SHTd SO0 DiRwsE Bodode Inad) JudH Dégedmr L . Sob
Boly Jve $HTE S0Q Dinwds Swrdode @A) SHTE SrGS Dignd Drd.
RoSETodos® T & 45,000 ererdy Fo88, ool SrES T Gruues”

(1) 12,000 ; (2) 9,000 (3) 25,000 '4) 15,000

When the length of a rectangular plot is increased by thre: tunes, its perimeter becomes
of that plot, is

2 ﬁgﬁﬁaﬁ@'sﬂ'ﬁs’g}_ﬂ;m GDooE), FEPD Aoy DodIDYE, T hnFod
Mﬂ'h:bﬁ:ﬂ Sobcdn ITegsn 7200 S663 En{'am“ VYSow. wond Fin GAnE), wHe
289 (ooge?)

(1). 50 (2) 80 (3) 60 (4) 40

The perimeters of a squarc and a circle are the same. If the area of the circle is
. : _ : 2
3500 sq.meters, then fli¢ 2« (in sq. metres) of the square is (Here take Jr=~??_—]

af JRHESD Tadodn wE [ES0 Swg), SitnFoder 33r350. 8 dTeogo

3500 .50, 2a08, SdPe AwY, Irege S..ost (ag 4 x:%m &08'08)

(1) 300 (2) 2750 (3) 2500 (4) 2250

The area of a triangle is 1445 cm?. If the ratio of its base and its altitude is 2 : 5, then the
sum of the base and altitude (in cms) is

28 |Bghadn BwE) Ei‘uau 1445 & 0.0, A £ S06cin o0 @HBo g 2:5
o8, &rd Hockn eHdo Iwdgo (No.dv.we')

(1 112 2) 119 (3) 85 (4) 289

www.sakshieducation.com

26-D



/

; .Sakshfeducation.com
Booklet Code | [)

94. The length and breadth of the floor of a hall are 40 feet and 20 feet respectively. Square

3.

96.

tiles of area 4 sq.ft. with three different colours are to be laid on its floor. Black tiles are
laid in the first row of all sides. If red tiles are laid in the one-fourth of the remaining floor
and whate tiles in the rest of the area, then the number of white tiles laid is '

a8 TS Gy, Jo FdY, Idenyeo IOHIM 40 vdben, 20 sdbed. 4 583 vdibe

BT 050 EOAS Sardh DHF) Sobe SHEFEEY BEH% Jop S50, © FPe LS

. 1
SOIS" S9d BE) S6O. WAOS JoW 3 Sod A DESH, asENT WD

&) ardo (J0)3 Bud BSd 567, 26085 8od 58 Dopg
(1) 36 | (2) 56 (3) 108 . () 200

If the cost per sq.meter for making a garden is Rs. 150, flic* tié cost (in Rs.) of making
a 14 meter wide garden around a circular field wi*h ( diameter of 140 meters is

(Take :r=§]

w8 SE6G Dbt TGS ATyl ey Spaio-Ln, 150 wond, 140 Dotad rgdo $OAS
REEEH Fh by 14 DLE Idenet wf MPSSH BPITIE ey Sgako

22 ,
(Er2rciieds®) {?T:Tn" Aol

(1) 15,40,000 - (2) 67,76,000
(3) 44,00,000 “« (4) 10,16,400

If the radius of a «;lindrical vessel is one-third of its height and its inside area IS

_ 22
3696 sq.cm, the.t the milk (in litres) it can contain, is (Take i

1
w8 JgFFE @ D), TgArdin o0 Jfe 3 3 Sodd ool TN wodd (5°50)

| . - 22
Drogsn 3696 S o.do. vand, vomS' HF Feoo duds’ (T=—-rr &08%08)

(1) 25872 . (2) 28.634
(3) 24.598 (4) 27.789

www.sakshieducation.com

27-D



97.

98.

99.

100.

WWW. htion.com
I A2 - Booklet Code | |)

In a triangle, two sides with lengths 13 cm and 84 cm are perpendicular to each other. If
the triangle is revolved about the 13 cm side, the curved surface of the cone so formed is

(Take 7=2)
(1) 21450 cm? | | (2) 22440 cm?
(3) 22176 cm? (4) 20570 ¢cm?

ol |Bghaos®, 13 Do.do. SoBcky 84 ho.du. EHHe Bods sheres DEZY vondwm .
Ganow. 13 Do Ko o Dby w (Ghed) Fhoo & A3 fowP SwE), SEdo

22
Srogdn (I=—m &50d)

7
(1) 21450 305 N (2) 22440 S5,
(3) 22176 Shobo ~ (4) 2057005, %0.5

A hemisphere and a cone have equal bases. i ti.=ir icights are also equal, the ratio of their
curved surface areas is

w8 sgA'din oo 2 JoRHe Fruw (spow) JSrisn. o8 Qo Srae
PErSRE, o8 Sgde ITerge g

(1) 2:1 2 Ay () J2: (4) 1:42

A solid metallic spherici Lall of diameter 14 cm is melted and recast into a cone with
diameter of the base 25 / cm. Then the height (in cms.) of the cone is

140,00, gl BOAS o A (03) Aesd S5 2083 §6hod, 7 No.doe Tgo
fio o8 fol P 8BA FEFTH. wond & JokhP I (oo

(1) 1{N- (2) 72 (3) 96 (4) &4

Five metal cubes of sides 9 cm, 6 cm, 3em, 3 cmand | ¢m are melted to form a.cube. Then
the side of the new cube so formed is

(1) 15cm (2) 12cm (3) 8cm (4) 10cm
9%20.8., 6 20.80., 3 Do.2., 3050, 1 Bo.2o. ghasvedm EBAS § S Sdsne
EOMN0D w8 WdBwm drdrobowmd. ey FEm rdrods v fubo Ans), ghao

(1) 15 %o.5. (2) 12 2o.bo: (3) 8o (4) 10 Bo.bo.
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102.

103,

104,
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A milk man buys some milk. If he sells it at Rs. 50 a litre, he loses Rs. 2,000, but when
he sells it at Rs. 60 a litre, he gains Rs. 1,500. Then the quantity of milk ( in litres) he
purchased, 15 :

28 SOIEHDHTHE TR T Fobrd. vdsH dLd w038 &r. 50 FHHS vud,
©538 &r. 2,000 580 55308, Dty £¥088 &r. 60 THYS I3, & 1,500 ego
55008, vond ©EH FF Fo H0Srese (DL’
(1) 350 (2) 250
(3) 50 | (4) 100

The marked price of a Television is Rs. 24,000. The shopkeep.r «'lews a discount of
20% and gains 20%. If no discount is allowed, the gain percent (s =

L€ BODS s, G558 Deod &r. 24,000, n¥ SEar a0 20% BRy0ts ond)
20% wrerdy TFodherd. & otn adgERS, oPTS(

(1) 25 (2N, S0

3) 30 - 7. Q)

Sasi sells a gift article to Latha at a zro5t of 20%. Latha sells it to Prabhu at a gain of 15%
and Prabhu sells to Vasu at a profit =71 )%. If Prabhu sells it for Rs. 759, then the cost price
(in Rupees) at which Sasi bough tthe article 18 '

3 28 A 6RESH vSK Lo T 20% oerd) Foderd. 08 TAD PO
windo g 15% ere ) Todidod. DI A K edbo oo 10% oerd)
Dofoerdo. @Bgh TAY G, 759 § ©0)8, §F & sfESh FHEE (drdrahed’)

(1) 525 (2) 426

(3) 500° ° (4) 693

A trader allows a discount of 10% for cash payment. How much percent above cost pric
must he mark his goods, to make a profit of 8%7? -

28 g0 $Kd BLoPELK 10% a0 aZd. 8% owrd) FodwE w8l SHHop
F'%) 68 08 Jod Tdo ¥ S (HEBE $6 SrdoTd?
(1) 10 (2).12 : (3) 15 (4) 20
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A man purchases a certain number of toffees at 2 per rupee and the same number of toffees
at 3 per rupee. He mixes them together and sells them at 4 per rupee. Then his gam or loss
percent is

(1) 20% gain (2) 20% loss
(3) 40% gain |  (4) 40% loss

o8 g8 o8 Srdond 2 SUYS ol A7 dopgs' oFBLy Fand. ol Sooget wf

106.

drdrows 3 TS seo Fands. a8 Boboldd 50D drdrows 4 TES '.r:iuﬁ, wdns
5% ogsn Bo SFTEsn

(1) 20% eeo (2) 20% Sgo
(3) 40% ergio : (4) 40% Spo

30 men can cut 54 trees in 9 hrs. If six men are drorped Fom the _fﬂb then the number of
trees that will be cut by the remaining men in 10 hru s

30 5008 SgEgen 54 BLr%o 9 Kobsws® BOER A S GG SpH0 © 52 Jod &bk,
et e, g—

107.

108.

A0S 08 10 fobees® 35803 Dl GOy
(1) 42 s (2) 48 (3) 52 ' (4) 45

A can do a piece of work in 4 1ay3, Beando itin ﬁda}fs and C can do it in 8 days. Then the
number of days required te conplete the work, if all the three work together, 1s

wE 3 4 Fwrod’ Aldbiod. 35D 6 Fwod® B, 8 Farod® C Schiod. ¢
Soorpdr S0 TR e 520 P VoL IS SSods BSSve dopg

11 2 T 11

(1) 1z (2) . 2— 3 1= . (4 2—

9 9 13

A and B can do a picce of work in 12 days, B and C-;an doitin 15 days and C and Acan do
itin 20 days. Then the number of days required fm A to complete this work is

A, Ben o€ 533 12 Sareds® Bchfod, B,Cos g 539 15 e So0csn C, A

a3 320 20 Farod'ir Sobioh. sond & 532 Fh aqﬁ;a-:ag A g sdiodhds B
Romy
(1) 30 (2) 35 (3) 25 (4) 40
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109.- Two men, Ram and Shyam, working separately can mow a field in 8 and 12 hours respectively.

110.

111.

If they work in stretches of one hour alternately, Ram beginning at 9 am., mowing will be

- fimshed by
(1) 530pm. 2) 6pm.
(3) 6.30p.m. S (4) 7pm.

S0 58050 TS B0 GVGE S5, DEIEM HIBHSTYE Dot B 566 WL
Sdodmr 8 Hobain 12 fotsen 5ad. & wEd ddard DGE0M wE Kot lu dHadds,
6600 9 fobok oS HAID @rdody, §'EIN JoFrgoddgtinis Liv-lo

(1) a&rcho@o 5.30 Hon (2) srdbogo 6 Hou
(3) &rcioo 6.30 fon : (4) arciooga 7o

A and B together can do a piece of work in 12 days wl.’ch B and C together can do in
16 days. A and B worked together for 5 days and Al=1.th2 work. Then C joined B and after
2 days B leftit. It took 11 more days for C aloi.= 1> cc.aplete the remaining work. Then the
number of days required to complete the tota’ work by A alone, 15

A, Beo £00 wf 330 12 Sxeod® ILAudk. o 332 B, C e £85 16 wods’
dabioth. A, B oo 605 5 fwal DaBus ShTd A DIV 3603y, §dod B &
Clorkh. v 68 2 Swel F 220 3603, Caf)ad Hads 532 g Bchas
508° 11 S'aren 50d. wone . L7534 Jogo 2D FE Doba Il sSohd H3Sve Dopg

(1) 32 - (2) 24
(3) 48 ; 4) 16

If ten men a1.q .ourteen women can do a piece of work in 6 days and fourteen men and
twenty ‘oLt women can do it in 4 days, then the number of da}rs needed for ten men and
three v7cmen to complete the same work, is

H8508 HSHhHoen, 5;531:1:-5: So8 @m 28 HIN 6 FarodEr, Spneoih Hob PhHdew,
283 Teor So0d é}_m ud 522 4 Sarodir Scbidnd, H85008 Yhies Sobaln
SRy |2 nen o HAIY Fo Eﬂnﬁaﬁ“;}ﬂ SSOdS B350 STET

(1) 9 L (2) 8

{3) 10 - (4 7
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114.

115.
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B is twice as fast as A and therefore B is able to finish a work in 20 days less than A can do.
Then the time (in days) in which both of them together can complete that work is

A fofl BBoloden HsSwm Sadchiad. 585 »E500 Adod B 20 5550w Snod
I8 dobod. sond F0ESH 0D AW 8 IV Y BeRAdA Ihaho (Frod’)

(1) 14 ) 13% (3) 13% 4) ‘5,17

Aand B can do a work in 45 and 40 days respectively. They began the wo k together, but A
left it after some time and B finished the remaining work in 23 Aays, 1 hen the number of
days that A worked with B, is

A 508050 B ex o 52D SG5 45 5805 40 S Ichrod: T Sob 5ddchdo
IS Fod ordi Aw HID S80Iends. DANDEIN 23 Swes’ BYrg I,
wond B & fod ASNThG ass0e doxg :

hn 9 @ 3 3)\.7 4) 6

A man and a woman undertake to dv. a pi<ce of work for Rs. 870. Man alone could do it in
4 days and woman alone in 5 acvs. Wiih the assistance of a boy they finished it in 2 days.
Then the amount (in rupees) tuat the boy gets is '

o8 Do, wE é € 2104, 870 8 daiordd soffboordd. Pt t..ég,ﬁ o I
4 Fwod'ir, w a.—:':‘;,é L add S Swodth Sobrod. uf resd Sifdhod’ o ©
500 2 fwod LU0 3. vond, s wwdd 5T 33w (Erdrabed)

(1) 220 “(2) 170 (3) 78 (4) 87

Fouernen and Six boys can earn Rs. 2,100 in 6 days. Seven men and eleven boys can carn
Rs:4 250 in 10 days. The number of days required to eam Rs. 2,250 by five men and eight
boys is .
Seolhts b, shifd el 6 Swods® & 2,100 Sodbodiot. &G
e, HEfotdod wrend 10 Swed® 8. 6,250 Sodrbodiol. ol Yhw,
IvEabebTa ;Smﬂ_n wreodt dor. 2,250 Sodrbodmal shond GRdne Ropg

(1) 8 (2) 4 s @7
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116. A, B and C together earn Rs. 3,000 in 4 days. A and B together earn Rs. 2,750 in 5 days, B

117.

118.

1Y,

and C together eam Rs. 2,700 in 6 days. Then the daily eaming of B (in rupees) is

A, B, Cen EOD 4 Sarod® & 3,000 Sodird. A, B ey €95 § feod® &, 2,750
Ror&Fm, B, C w0 580 6 S'wrod® dr. 2,700 Jorb3kh. wond B @Bng), wE e
Roardn (Srdrdiwes®)

(1) 150 (2) 200 (3) 250 4) 300

9
A, B and C won a contract to work for Rs. 650, A and B together can do 3 th of the work.

Then the share of C (in Rupees) is
A, B, C oo 28 soirf 502 & 650 § dabaat 2inoo B, A, B oo agdr

9 : '
D5 ﬁ;i Sod SO0 dofed. sowd CcﬂnﬁL air (Grdraiies®)

(1) 150 (2) 300 (3) 250 (4) 200

A daily-wage labourer was engage 1 fo: a certain number of days for Rs. 5,175. As he was
absent on some of the days, he v/a= n.id only Rs. 3,600. Then the maximum possible daily
wage (in Rupees) of that la%o irer i, '

of Sased o5 F Cisvokhmi & 5,175 & LE536° dchdosamds. 59

§q) Bdawer Ao ade s 5do Su 88 Tdwo &r. 3,600 Se@hh BDoTrdy. wowd e
50 8088 oAl KR Swlrd (Brirchod®) - j :

(1) 225 (2) 250 (3) 275 (4) 300

- 3
The wages of 15 women for 15 days is Rs. 45,000. If the daily wages of a man is 5 times

that of @ woman, then the number of men required to eam Rs. 90,000 in 25 days is

. . 3
15 5008 ok 15 Farok &0 & 45,000, 28 HOWE BIErD, & BIEr8 = diy

—_— e 2

wowd, 25 Swod® d&r. 90,000 Ho>bosral elohs HHhde Somg
(1) 14 (2) 12 (3) 11 (4) 10
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120. A man walking with a speed of 4 kmph from his house reaches his target 10 minutes late. [f

~JaL

he walks at a speed of 6 kmph, he reaches his target on time. Then the distance (in kms)
between his house and the target is .

flobo¥o 4 8.0 Jrod' Sdigd) w¥ 958, ©ED 208 $08 P& oFgd 10 dsodre
Bodgom Bhsotrd. ed Mokt 6 8.5, ros® 58], wsd OESR) B3 SSocsrDs
Bsotrd. wand V8D 08 wod SFgRs Ko &rdo (8.0.06Y)

(1) 2 | (2) 3
3) 4 (4) 5

Select a figure from the Answer set, the contents of which best anbtituie the question
marks in problem set such that fig. {iii) is related to fig. (iv) inthe san = way as fig (i) will
be related to fig.(ii)

So (1) 8 dbo (i) & &) domogo o8B, Ho {iii!'.; s Sbo (iv) &8 sodldom,
@’:!aﬁrhﬁ_;;e: %ﬁqﬁ‘ RB G l{:ﬂ‘gaﬁaﬂdﬁmm fies AT, RECEEHE fod J:ﬁ:‘lﬁ'mﬁn.

Problem set Rdarg D208

R O ::O :_:-W

(1) (ii) (1) (iv)

Answer set : H3>r08 08

'Vﬂ‘/\_ﬁlﬁv Ula O

OO RO RO I RO ;

AN @ 3) (4)

Directions for the questions 122 and 123:

122 50805 123 PHosHs Jdses:

There is definite relationship between figures A and B. Establish a similar relationship between

figures C and D by choosing a suitable figure from the Answer set and fill (D).

www.sakshieducation.com
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A 5obcin B dtre dody w8 8RS Homodo &¥B. C Sobain D o Sy wddES
So20d) JGHID H0Bod HErY) BErEE HS Hod IZNFD (D) D JoHos. '

122. Question set BHe 508

S| O] K]

A B C D

Answer set 2avz0e D08

olgloal

MY @ ®

123. Question set o 308

b

) Ell

x

A NN B ¢ & D

Answerse' aane Dad

Al
l
1

Al

=
o~

[L,
Il

e -
(1) @ B @
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In the following question, in three out of the four figures (1) to (4), element (i) is related to
clement (i) in a particular way. Findout the figure in which eiemcm (1) 1s not related to
element (2t) in the same way and write your answer.

1Bod HHE adyd (1) Sod (4) He ShBnes® Srdods® fo Suorode (i) , Soorelo
(11) 8°* .8 RS JowoFd) EON Solwod. Swredo (i) § Surolo (i) 8 seroll F'aumaa'a‘l
£On ﬁadn f:ua;’.u EofTR d3rgrdom ovodod.

| | I

Sl PN AVE

(i) _:'_ (ii) (i) : i) } . £
(1) A2 (3) (4)

Out of the four options (1) to (4) three have a roladonship similar to that of the original
pair. Select that pair of figures which does no ha ¢ a relationship similar to that of the
original pair and write it as your answer.

ety aaf‘.p_,s‘u.‘: (1) %0D (4) &', edHm 23 Ko Ho2ofR) FVIGD Srdd Gamow.
oo 28" fo dowodo wotid TA 2YFY) Jod, AY N IdrFdor cuhod.

Original pair s 24
AR

£ 8

Answer Pairs 8i0un 2den

PR|=E|es|T®

(1) (2) (3) 4
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In the following problems, (126 & 127) a related pair of figures (original pair) is followed by
four numbered pair (1) to (4) of figures (Answer Pairs). Select the pair that has a relationship
similar to that in the original pair and write it as your answer.

Booklet Code

; aﬁt:ieﬁic ation.com

50D akcadsS 126 Sobcsnl27 PHOS', 28 domodo EOAS SLidwe 28 (eden adb) &
ardom, (1) sod (4) Ropgod” drdodeds Shiduos H5rard aden GraTaN, BRLs 228G
Pomogio Jo8T EHAS 28 IFA oA BErgdor cahod. '

126. Original pair ohes =4

o]0

Answer Pairs 537008 sdes

&

=

O

k3

JAS,

= =

()

(2)

(3)

127. Original pair @;‘;ﬁ_t*u_y_arl

(11}

L

A

OE

L |

(i)

Answe. TV irs 330008 mden

L

r
1
|
m 4 @

]

(i)

L]

(1)

(2) (4)

www.sakshieducation.com
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In the folloing questions 128 & 129 three out of the four choices are the sarmie in a certain way
and so form a group. Find the odd word that does not belong to this group and write it as your
answer. '

S0 Qdcads 128 SHboin 129 PHos'd e mﬂésﬂuﬁ‘ Sordhy i ) &gﬂe}* eBogom
Godto Sg wl Sriromr Afidean. & JDrTIE BosY DHS oS BT TID
RArTSom oalod.

128. (1)} Debit (2) Deposit (3) Deduction (4) "Withdraw
(1) 3o (2) Barmes (3) aags (4) S8

129. (1} Ruby (2) Sapphire (3) Granite (4) Topaz
(1) & (2) =8 . (3 re (4) &a>&

In the following questions 130 & 131, the pair of wauls uiall the choices (1) to (4), except one
bear a certain common relationship. Choose that ndc. na.rand give your answer.

B0 @A 130 So6oss 131 BHOS'D oMreu (1) $008 (4) 06* o =8 DS, 585 6y
2EOTD Do DFy wF WIS Fira: Sunodo Gobd. HIS DFHRd wdd JSHED D
2y ordSiod. -

130. (1) Petrol : Car © (2) Ink:Pen
(3) Garbage : Dus bin _- (4) Lead : Pencil
L os's : e _ (2) =08 : S,
(3) ™o T50S | 4) 85: 28
131. (1) Death: Disease (2) Milk : Butter
(3) Grape: Wine (4) Crude oil : Asphalt
(1) 35 : abs 2) 28, : 206
@) &5 : 35 (4) §»8 vons : DaysE
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In the following question in each of the choices (1) to (4) a group of letters are given, all of
which, except one have a common similarity. Choose the odd one and write YOUur answer,

1Bod @HS' (1) food (4) 3d& Ko pses’ ) uil dSumahings 252835, it
83) PAOS ©YoBES* w8 FErSg FErBgo GHB. T8 DHoS TA DENFD 2 DS
oS0 b. | '

132, (1) NJLQ ‘ . (2) TPDC
(3) BKDF - & QI

In the following question, out of the four options (1) to (4), thre= 4.2 u¥%e in a particular way and
one of them is different. Choose the different one and give your answer.

Bod @HS* (1) Sod (4) 36% Ao e ROFTOS S of PG 2G8S" 3 o
Gamon. Wil Jogo ﬁlﬁtl{]ﬁ‘ ﬁ{ﬂa_ Ebélnm_ﬁ;ﬁlmmm .,:,.;.ls'a, & BArgde oohos.

133. (1) 3214 (3} - 2332
(3) 3205 - (4) 2015

134. From among the four give:. E;"res, choose the figure which is different from the other
three figures.

IS Teodh BLrelS s Sk dirot Do &%) HErR) IF S0,

XX

BN e @

[n the following question, the four problem figures have a common feature. Selecta figure from
among the answer figures (1) to (4) which has a similarity to the problem figures and give your
answer,

www.sakshieducation.com
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B0l PHSW adyd Teod SRy Jred’, w8 JPHDS iy vfndn Sud. (1) Lod
(4) &' J3rerS dbreo Hod, & é-éurégﬂﬁméa? fo HErd) I5ED L JSrgrdomr orabod.

135. Problem figures 3S0drg Sédxnen

A B C D
Answer figures 23S éuﬁm_m

CIOIALD
m- @ 6 @

In the following problems 136 and 137, there are wo poblem figures followed by four answer
figures marked (1) to (4). Choose the answer fizv.e wnich has the same common charecteristics

as that of the two problem figures and write you-2.1swer.

Boss as@as 136 So0ckn 137 Ban, bok sy sires® o, (1) Lod (4) of
fhgciaa-ﬁcf: DRI ?.’:-u‘m ﬁa‘lc: 2. Ty i: n}ﬁaﬁra;’)u‘uﬁ‘:&:‘ He .»‘.J‘;’:J-__s’f_augeu*ﬂ:ﬁ EDR ﬁﬁﬂl
- RErES 5 ISHFR, £, & DEP e u"n:‘i.}n&

136. Problem figures B’:-.:.. BN 8335000

Eaie)

Ansvrer ngures S8rS StaSooes

IRANHEZ

27 3 (4)
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137. Problem figures S&odrgdiren

0O

Answer figures J3rrsS Héren

e
e

F ™

= | (1
(1) 2 B @

138. Inthe following question, an unfbldc:d dice is ;;1v.n un the left side while on the right side,
four options (1) to (4) are given in the form ™ ~oction of dice. Choose the correct option
which is formed by folding the unfoldiag ui-e.

Bods BHS!, ISHTHS DESHRR 24 SOE oIWEIB. HAJYS PR PSS
Sos! Feah agEes (1) el (U1 a5easd. HES Dd FOESH 68 DESHIE
bﬁjﬁ RO 2inEQ) JEnFa Sdrgrido Tohod.

F

A |.E

(1) - 3) )
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139. In the following figures, three positons [, I1, Il of the same dice are given. What will be the
digit on the face opposite to the face having digit 17 ' '

1Sod Jéredst s >0 ool Sordy Fohdoen [ II, 111 'a-.;"}_r'}eaﬁ-‘éb. @od 1 e Swogrné
A &) ﬁuq:{nﬁ 403 @wod Q87

: 6 ]

I [ - % 1

(1) 6 o @ 4 @ 3

Directions : Read the following information and answr th= qun:stic;n:«s from 140 to 144,

Jg¥sen 1 Bod JSrorord) WA, 140 Scd 144 L1885 Ko PHod SSrprdsn oabod.

A cube is painted red on two adjacent surfaces =n? b'ack on the surfaces opposite to red surfaces
and green on the remaining faces. Then that cub: is cut into 64 smaller cubes of equal size..

©8 Pddw dwE), Bodk RN GJLH I JY Em‘i}_;’igimﬁﬁ&- LID GHbderni
wdom 53) D0dgni Ky Sdedor A Hudse. DAY &HBSerot s5SH%orh éﬂﬁ;-z;_ﬂp_éﬁ_&.
g&jﬁ} a5 ?’u::ﬂ'{'gl PATD HOBrv Xy 64 U3 oTom Eu oo,

. . E—

Y
[40. The number of smalier ~ubes haﬁin g only one surface painted is
a8 #0bd00 WS Job Schass 0F) ssve Sops.

&8 C(2) 24
(3) &\ (4) 32

[41. The number of smaller cubes having atleast one surface painted with green colour, is
Hﬁdﬁ;ﬁa dory Iohads &3 ﬂéu‘aql .Eglﬂd z._.ﬁzbﬁi EEJP.EEE ﬂé_l i rassoaes’ E’aﬂmg.
(1) 8 (2) 56
(3) 24 | W 32
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The number of smaller cubes having three surfaces painted, is

Sardo oo SOAS eBOSees Ko D) wiiwe Homg

(1) 38 (2716
3) 24 (4) 4
The number of smaller cubes with only two surfaces painted, having one face #v.=n :.nd one

of the adjacent face black or red.
w8 Snpdnp GRS G0, I8 BIRINT HI) 08 Sopiud SelP B 6 S
SR, Doty GHBSoINe SrED Forh ahnsS 08 wI5v
(1) 28 | (2) 24 '
(37 16 : 4) 8

el @C e

The number of smaller cubes having no surface naitted, is
Q) S388v0 DT SorhIcHd D% oSSk Bolps

40 ] (2) 4

(3) 8 - (4) 16

In the following question, £l the figure out of the answer figures, that can be formed by
joining the pieces given in (e question figure.

——

Bod DS, PHuboe* C0SgAAN ol wdlodm J6yd S, Sdrgrddire

L

od SRt '
Questior: Fi7u.e 2 ddo Answer Figures 53>0s Htren
2 [Be|6]¢
i,
(1) 5 (3) (4)
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Direction to Questions from 146 to 151 Fill in the mis

relationship, between each pair.

www.sakshie ucar' .com
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D

sing word (s) that e_st:ab]ish (es) Similar

146 5008 151 56% Ko BHosh JPEFen: (B8 ad Dy ¥ 5EDI SowoT'R) HEH Sio

(dred’) & Irdodise.

146. Tadpqle 2 i : : Caterpiller : Butterfly.
(1) Crow (2)
(3) Fish | (4)
r&S 7 :: srdabhed - a:éaﬁ":.é
() & (2)
B) 3% (4)
147. Induleﬁm: Beaver:: 2 ?
(1) Elegance, Peaca::ck_ (2)
(3) Passivity, Cow - (4)
QT8 : DS : 2 a7
(1) 20mrs), be§ ()
(3) 2208, T (4)

148. A: Wintor . B : Malaria

(1) + =Quilt, B = Quinine

~ (3) A =Cold, B = Mosquito
A:dob§::B; E'::E;qﬂgn
(1) A= &¢,B=435

(3} A = &g, B=Sly "

(2)
(4)

(2)
(4)

Goose

Frog

§F

Ferocity, lamb
Joviality, Hyena

;] f:'-‘?;-éﬁ, a0y
£'9c5r98, o
A =Cold, B = Epidemic

A =Wool, B = Fever,

A =8¢, B=2baxn§
A=&ud5, B=5355
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149. DRIVEN : NEVIRD : : BEGUM: __?

(1) MEUBG (2) BGMUE . (3) EBGMU

AR g L
150. ISTOH:: _12 :E‘& :

(1) PK o (2) HP

1 .

3 KX (4) XK
151, 7544 : 5322 :: 4673 : __2 |

i o370 gyt ) .

(1) 2367 (2y 2451

(3) 2531 . L (4) 4472

Booklet Code D

(4) MUGEB

Directions to questions 152 and 153 : The given three \vors are related in someway. Choose the
_option having the same relationship among the foir z17en options and give your answer.

152 Hobokn 153 BHosc JPdsen Sefoct D& Do dowodo EOAS Sordy doeo
€370, mﬂ&‘)qﬁ@;ﬁ Pomofrd) 8O/ mhrr'.“g A aredfio m’,&sﬂu #2086 JAnEA 200

mﬁﬁu&. .
152. Magazine : Story : Article . -
(1) Tea:Milk: Sugar

(2) Television Moo spaper : Entertainment
(3) Bed:Qulr: Pillow

(4) NCveuo: Drama : Literature

SoridS : 0 ¢ epss -
W8 DGy, : D
(2) BOD=S 53-55 558 : Jobb Badools

S ————— —_

(3) B6: &S b
(4) 55 : @Er : dLdSs
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153. Researcher : Historian ; Scholar : :

www.saeshiedteaton.com e
Booklet Code D

(1) Epic: Novel : Book (2) Teacher : Graduate : Poet

(3) Teacher : Professor : Lecturer (4)

History : Story : Book

EH-"J::;JE - Er%ﬂaﬁ:rﬁ : iﬂ*@rﬂﬁ

(1) O0E : F3& : 8 ‘ (2} B35 - rlogkots + il

(3) S48 : @035 : BYLS LAY R0 0 ek

Directions to questions 154 & 155+ Three words are given in each gnasion, which have something
in common among themselves. Out of four given alternatives, choose the most appropriate
description about these three words and give your answer. :

154 S080i0 155 PHot Jiser PERHS" Srd SE ol TN, TES 26" w8 aglagio
God. gy Tenlld wi&g"t}ﬁ', & Sordodmese D5Lad 8as E:'QJE‘;& Jéﬂﬁ'a Do aTranei

oroiod. _

154, Stirrup : Anvil : Drum
(1) The items are used by riders (2)
(3) They are musical instrun.zats (4)
RES 1 S ¢ G
(1) E‘E:ml ﬂf:;cﬁ:l"ﬁﬁﬂ e (2)
(3 od >dg Spgorin (4)

155. Supemove ® 2rusostar : Red Giant
(1) T.es»are kinds of stars (2)
(3} These are stages in the life of a star  (4) .
SrLSSa 1 @O RE 86 wchold
(1) 2d edod Js'ew
(3},»92 SE@doderod’d Sdbge
(3) 2d o8 &d GwE), D80T FLonw
(4) ad SrdHgd g 8AD

www.sakshie{fggﬂon.com

They are parts of ears
They are used by folk artists

55 BPHoSR g
wd) EShsirstios TE

These are members of galaxies

These move around the sun.
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Directions to Questions 156 & 157. Three words are given in each question below , which have
something in common among themselves. Choose one out of the four given alternatives, which
mentions the quality common to the three given words and give your answer.

2D 156 Soocko 157 PHosH JGieon Eod P8 PHS' ol FSrdy (es30)8) wfmo 50AS
Sordhy Dores @anon. & Srdodlf do rdedy el Brdod DINE ) add T
mﬂgs‘u Sood ﬂs’:ﬂ?ﬂ o Hdrgrdo oadod.

156. Couplet : Sonnet : Limerick

(1} Prose (2) Songs (3) Lyrics (4) Poriny
£ B D508 |
(1) &8 ) #ofy (@) oe§. (4} oy

157. Wasp : Cricket : Beetle
(1) Insects (2) Pathugens '{3} Mic robns (4) Pesticides
Fe LQEF'S : DES |
(1) aswf) (2) :}rcﬁ"aﬁ} A% _IDEE) (4) )

L= .

158. Inproblem figures, A and B are relate.! in « particular way. Establish a similar relationship
between figures C and D by choo: ing 1 vigure from the answer set that would best substitute
fig (D) in the problem set.

SHrgHres’ A $00kh Bk 95 5EIS' Soworrd) DA damow. C Sobako D
Shre So¢s 8ol Bonued) HGHLrOE, SIS S8 Kod By HWESD
Sbo (D) & adl Pogamchidhy Hirdy JdnEFHosn.

Problem figurta X Sofrg Héren

2 1O A

A B C D

Answer figures S3rgra Hiren

OO

(1) (2) (3)
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Ina certain {:Ddﬁ.lﬂ.nguagﬂ, *‘COMPUTRONE? is written as ‘PMOCTUENOR”. Then, in that
samecode ‘ADVANTAGES is written as

2.8 agg@a §'8 it ‘CDMﬂ[_{_T[lQNE’ & ‘PMOUTUENOR’ & gand. b §'as*
s *ADVANTAGES' u38

(1) ADVANSEGAS y (2) ADVTANSEAGr

160.

(3) AVDANTAGES (4)—AVDATNSEGA

In a code of language, ‘ORGANISATION’ is written as ‘7 BUWLQJWYQCL' and
‘OPERATION' is written as L}{FBW‘I’QCL Then ‘SEPARATION' can be coded as

o8 58 e3¢* ‘ORGANISATION’ % ‘CBDWLQIWYQCI’ 558050 ‘OPERATION’ %
‘CXFBWYQCL' 2 |&drds. wond ‘SEPARATION % &8 3% 58 Sdo.

(1) EJXEBYQCL (2), TFIYWBCXQLy

- (3TFXWBWYQCL ‘4" QCLYWBFXJE %

161.

162.

If in a certain code Iangua ge "TOMATO 1s written as ‘2641267, ‘NET’ is written as *552°,
then ‘TRACTOR will be written 12 that language as

28 ARRZON 86 rae® ' TCMATO" K ‘264126’ =d, NET’ :éa ‘552" wd oAty ©F
&S oohdHd ‘TRACIOR' e,

(1) 2813269 (2)-2913269
(3) 219326% (4) 2913296

If 12 -ertain code language ‘HEART’ is written as “@8531" and ‘FEAST" is written as
‘#alll’, then ‘FARTHEST is written in that code language as

w8 ©BBgEDS ras ‘'HEART' & “@8531'wd ‘FEAST' % ‘@8541° 2 o, » 56
erad® 'FARTHEST' mér oaro.

(1) @8543#18 (2) #5314@81
(3)-#531@841 : (4) #531@481
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163. If‘green 1s called ‘red’, ‘red’ is called *blue’, *blue’ is called ‘white’, ‘white’ is called
‘vellow’, ‘yellow” is called *violet’, then the colour of grassm

(1) Blue (2) Yellow
(3) Violet (4) Red

@am‘pﬁ@a“@ﬁmaﬁ@a a‘aeﬁ*@mﬁes‘aaei‘um QST 2 3B
®d DOR , 1§ G308, Goib

(1) =g (2) a¢*

=

(3) 3885 | (48

164. Replace the qucstiu::n mark ( 7 in the sequence given belnw w th the suitable option.
Bod a;ﬁﬁmﬁsﬁ RS RALY ©# gy (?7) & dfa “mdéﬁ..::ﬁ‘ g0 Tadandiio.
1, 36 , 342, 1330
(1) 122 2 Ry 123
(3) 124 4) 125

165. Identify the number that does .ot “ollow the pattern of the sequence given below.

Podoootads i Tng) SSrad edboud Dopgd Mok,

L
1, 4,25, 256, 3125. 45455, 823543 |
(1) 3125 (2) 46656

(3) 25 o (4) 823543

166. Rep'ac= the question mark ( 7 ) in the sequence given below with the suitable option.

Bogs aSgRas wREDINS! BY M (7) B 03 oQEne' o dotwis,

Y ;
YBZC, DWEXF, GUHVI, JSKTL, ?

4
(1) NQORP » 2 MQNRO

(3) MRNQO | (4) OQNRM
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168.

169.
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Etiplacﬂ the question mark ( ? ) with suitable option in the alpha-numeric series given
elow,

Bod aﬁtse.:ﬁ;fr ezéét'u’ RogrgloEdodineg’ @) Ml (1) % S/ of)ESns’ g8 Boiwsw.

zzgﬁq_@gﬂ ? 713GM 1_1_1,1_111-*{
(1) 5I13EM | (2) 420DT
(3) 621FU [(4) S517EQ

In the following letter sequence, some of the letters are missing whih ~re given in that
order as one of the alternatives below it. Select the correct alterrative

Bod vl edigDod’, S'hodd vwireld ol Eos* o)) (Hod ErgaTmoiros” e Em
cRdrwsdd. J0GS Pergirjoird) O8NS b,

AG;BRB. ACEC BPARA.B

2 - +) =
(1) EEDC (2} LDEC
(3) ABCD U cDBA

Five figures are given hereunder. Cut af them, the three figures to be joined to form a
square are

& HDHD adobhdren -::»:::.;595 Ao arddel” g S ! Q Jﬁﬁﬁﬁ'ﬁﬁ @Ggﬂﬁﬁuhs’a -;5&:"&::
qg,;m

[/, ]

(A) (B) (©
9y AGDs (2) AB.D}
(3) B,D,E 4) CD.Ex

www.sakshieducation.com
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" 170. The total number of unit cubes in the following figure is

Fod LIRS Jndo crdd ddwe Sopg.

4‘:—-—}
<
<
2
<
Z%

Z

(1 8 . (2). 9

(3) 12 | (4) 13

Directions to questions 171 to 175: Read the Zol owing information carefully and answer the
questions given below it. _

171 5000 175 365 o HHoso Agfees; Fod ddrword) eidm S0, o BKSS ﬁmﬁﬁm&;ﬁ
RHot Ldrgrdddny, '

On a shelf are placed six volum 25 side by side labelled A, B, C, D, E and F. Three volumes B,C

and E have green covers wl.llc 1 1e other volumes have yellow covers. A, D and B are new volumes
while the remaining arc old volumes. A, C, and B are law reports, while the rest are Gazetteers.

af wies* A,B U C,E, F ©i Do wd8ogadd Hda_g’:u@é.rt?s LT D88 aslm
ST, PELLLITE doPires B, C, E of shddd 56, 2ADS Soire S035H0
§568 eana A, D, B eo F'd Sojiren, ondsd & Sojiren. A,C, B eo agah b8,
DAOSD Th P& SIrTE JrdEen.

171. Which one of the volume is new, yellow-covered and GaZzetteer?
D809 SHI E56 SOAS Y THOS S5 TS ArdE SohHe?

(1) B 2D 3) C (4) F
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172. Which one of the following is the old volume of a Gazetteer?

BoBTIS* FAVE JIrirs Jr0E Gk, FE BoPLHA?
() ¢ 2 D
(37 E 4) B

173. Which one is the yellow-covered new law report volume?
S50 Gorls €56 EONS §¢ TgeRdIBE Soda?

(1) D - . (2) B

3) C | W A

174. Which one ts green-covered, old and a law repoty volume?
BEINHEID EOAD Frd a‘g:{:ﬁjaﬁﬁﬁ ~ 0o o &?

we | AR

(3) B 4) D

175. Which two volumes ar 2 .n 1 Gatetteers?

D Body HoPres, S FHEOE H5rTE SrOEe0?

(WD~'EF Ty e
(3) BT © (4) D,F

Directions to Questions 176 to 180 : Read the following information carefully and answer the
questions given below.

176 So08 180 368 do GH% IPiseo : Bod dIrTTY ST IBI, T8 BHHS
awdtdd BHos RETET HaaE0),
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All the six members of a family A, B, C, D, E and F are travelling together. B is the son of C but
C is not the mother of B. A and C are a married couple. Eis the brother of C, D is the daughter

of A. F is the brother of B.

L& Soimonine'd sl Sebges A, B, C,D, E, F eotr $05 Gosrsime. Cawg,
fodrdods BsQ B@xg, 80 Cod A, C oo DS aob. C ang), F#E68 E, Adws), $579

D. B &oog), Afddadd F.

176. How is E related to D?
(1) Father ' (2)
(3) Uncle . (4)
D3 E & fo donoddod?

Brother

“Cannot be detc rmined

(1) Sod : (2). r&ind

(3) wosods ) RoBodBSw
177. Who is the wife of EY

(1) A (2) B

(3) C : (4) Cannot be determined

E G0, grdg 258572

(1) A (2)° B

3) & (4 ABoEBEn
178. Which of the following is a pair of females?

Bob TS Qo s 287

(1) DF - 2)AD

(3) B,D (4) AE

www.sakshieducation.com
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179.. How maﬁj-,r childern does A have?
A8 o DoBosk? |
(1) 1 (2) 2 3y 3 4 4

180. Who s the father of F?
F o8, Sod 57
() A (2) B Gy C © (DN

Directions for Questions 181 to 190 : In each of the following que:tiuns, there are two statements
labelled as Assertion (A) and Reason (R)

Choose your option as

(1) ifboth ‘A’and ‘R’ are true and ‘R’ is the correct explanation of ‘A’

(2) ifboth ‘A’and ‘R’ are true and ‘R’ is not the cor=ct explanation of ‘A’
(3) if“A’is true and ‘R’ is false

(4) if“A’is false and ‘R’ 1s true

181 £208 190 565 o BHoLIies : §od BHow gf.ean-aes‘:a DgEEEn (A) S0k
s Sedw [R) HM@ﬁﬁq 0 Sodrow.

‘A b0k R'SSgEm, el ‘A’ 8 ‘R’ 538 258w wond (1) vd;
A SBokm ‘R’ Sdgan whdr ‘A’ § R’ 500S I56m SEFE (2) ud;
AT BégEn 00 R’ wdEgd (3) od;

A eREg ook ‘R’ 58528 (4) 88 D pyed) Joxhss.

181. Assertion(A) : MD:?:’L of the Himalayaﬁ rivers a;re']:fct.'ennial:
Reason(R) = : They are fed by melting snow. |
YIS (A) 1 TErOmIDES* esgosn d55es.
s*Gmo (R) D BOEE) Sowid vl Jodudidiaen.
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182. Assertion (A) : Aurangzeb failed in his Deccan policy.
Reason (R) i Aurangzeb could not follow the policy of appeasement.

fddo (A) : TlorEan wdd S§S ITIENS* IHeodairyd.
/S 6@0 (R) : ToorEmn w0ghod ITTd) wlodlosBEdraird.

183. Assertion(A) : Social integration at workplace is necessary.

Reason (R) :  There are many backward classes in society.

Afddoo (A) : sogochod’ Firsg wldogdo wi3Bdo,

s*deo (R) L Rdreedt Trer 3dEds ddrdien & T,
184. Assertion (A) : People prefer to wear white clothes ia w iiter,
Reason (R) :  White clothes are good reflectors »f lieat.

ddto (A) 1 TS Bul STwn CLonT A8 B agnde

s*teo (R) D Bod S LA IS B WHTLy Hod T
185. Assertion (A) : Good performar<e at work causes satisfaction.
Reason [FE} . Job satisfact v results in good performance
Ahddco (A) DS RHTDSES ENSLY A2308.
P-somo (R) 1 £HBS 0ol $DEor $H00 HEGHS Sokood,

186. Assertion (A)  ‘DNA’Finger Printing has become an important test to -:stahlmh paternity
and identify the criminal of rape cases.

Reason (%) : Small samples such as hair, dried blood and semen are adcquate for
DNA analysis.

Sfddc0 (A) ¢ woaEThod” I5Rd DEyeri) Sabdako K80 AFBoumraAs ‘DNA’
3651:155&: (Bcdl ©otdoh) vJd Jwpg H68 ®wongod

s¥@o (R) : DNA J3dm% Jognfen, Jods SEd0 So8akn Jdgdne @B
: rgeyddorarer  (Small samples) S82Fraow.
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Assertion (A) : Vaccines prevent diseases.

Reason (R) - Vaccines must be given to children.

| dgdso (A) : Breos Srok d5BZ.

1 88.

189.

190.

sdeo (R) . dsod book awd) aod.

Assertion (A) - : Theuse of chlorofluoro carbons is banned throughoat the world nowadays.

"Reason(R)  : These chemicals cause skin cancer.

C .
AnEda (A) ﬁfgjﬁ‘é;ﬁ* sdd sdsR) & Hay wiodagnom N aGomd.

sdo (R) & SRrchare s¥eom ¥ rind S29008.

Assertion (Jﬂi} - Graphite is si'm, =7y and used as a lubricant.
Reason (R) . Graphiw hos free electrons.

AnsEo (A) Tl b Bgerddn Sod, A2 Eodsm &HBFATE.

s8eo (R) LRSSt o) Jogiow Gotrow.
Ascéiton(A) @ Roughage prevents constipation.
E.; 13-::-ﬁ (R) . Roughage adds bulk to the food.

Apddgo (A) : Lddorge Dongsd) REER00.

s*deo (R) : E}ﬁ:r:hﬂ‘gﬂ- sFoD8 whEgsin dEraB0d.
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In the questions 191 to 195, each question is followed by two statermnents I and IL. Mark your
option as '

(1) if the statement [ alone can give the answer to the question;

(2). if the statement IT atone can give the answer to rhﬁ qucsti;:m;

(3) if the statement I and II together are necessary to give the answer to the questi-nr‘;

(4) ifthe statement [ and II togetheralso are not sufficient to answer the questior an 1 additional

information is necessary.

—

191 S00d 195 588 Ko 8 @ﬁé“sﬁr wf @, oru_Sogd Bodo S iU T I, IT o mapd.
Bssso [ & Srgd pH% aﬂfﬁﬁaﬁﬁ (1) e

©5sSe 1T & Srigd PH es_z'ﬂ;'ﬁﬁﬁémﬁ (2) &

5o 1, 1l ok $008 Smgdy B aTdsHans’ (3) ed

@3S 1, 1l oo Bobotia 808 moFLe w,5Y Ddrodo Shom BHN 2T DIDEFS
(4) v DoYS R Hosd. ' :

191. What is the ratio of male a .4 female officers in the police fun:é of the town T?

I “The number of “zmale officers is 250 less than half the number of male officers.

1
[I. The romber of female officers is :ﬂ; th of the number of male officers.
U & #b% FESD Yo Decke § wTH I Jod?

L & wesde Jovg Ydh shrde dopgd' A BoB 250 &5y

|
I R edsdo Jopg, Dd vhsdho dopyd® T 3 e

? —
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192. On what day of the week does Murthi’s birthday fall?

. Prasad correctly remembers that Murthi’s birthday comes after Wﬂdnf:s.day but before
Sunday. :

[l.  Imam correctly remembers that Murthi’s birthday comes before Friday but after
Tuesday.

S 2858550 oS’ J Gl 553087

p—

L 5008 288850 w00 SHTE; 70 GOTTIE 5008 S0 Lo 5% pdorr
fodyod.

L Sord 2488550 HETTIE Swod; 5 ofgardo €008 SHoSY s
pihdor Hdyod. :

193. How is Chaﬁhanya related to Lakshmi?
L Mother of Chaitanyais the sister of Lak: . ’I', tather.
. Lakshmi is the daughter of the only 5o 0.’Ghaitlan;-,ra’s grandfather.
. H‘;E%ﬁ‘ Eﬁ"'ﬁﬁ_&r e domodidad? |
L Bes; 89, ‘of) ol Giog, 7488

L 3855 68 JB8 §arhd dng i3 of)

194. Among the five 1:10: ds - A, B, C, D and E each of different heights, who is second tallest?
. Eistavcr than D and B. B is shorter than D. |
Il. Chrsllerthan E. A is not the tallest.

Q0% Jden EOAS oddood WErdien A, B, C, D, E od*, foR 8PS BodSardd
J58? -

L  D,Beo 8 E 243854, D 08 B >t

.. EfoB C2d3sado. A K03 &ars s ' -

www.sakshieducation.com
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195. P is in which direction with respect to R 7 _

L

L
II.

R isto the East of S which is to the North of P
R 1s to the North of Q. |

R &y PO 856° 689

L
IL

P %ol &dodd &5 § & Sr8nd R &b,
Q&ood &dods R ¢5)6.

Directions for Questions 196 to 200 : Read the following information coretully and then answer
the questions below it. T C

Following are the conditions for sélecting a research officer fo. a v2puted research institution.:

The candidate must

O P moDNw e

be a post-graduate with minimum 60% marks

have Ph.D degree after post graduation

have research experience pf atleast 3 year.

have fluency in Hindi and English

have published atleast 5 researcl papers

not be less than 25 years a~d moi< than 35 years as on 1st July 1993,

have diploma in Statistic al ~ ~plications.

[n the case of a candi Y~ who

1)

ii)

satisfies a'l ¢ *he: criteria except A above but has post-graduate degree with more than

35% marke, Lis case will be referred to the Director of the Institute.
satist.cs all other criteria except C above, will be referred to the Joint Director.

2w, read the information provided in the case of the candidate in each of the questions
£'ven below and decide on the basis of the information provided and the above
conditions, which of the following courses of action is to be taken.

Give your option :

(1) if the candidate is to be referred to the Directar

(2) if the candidate is to be referred to the Joint Director

(3)
(4)

if the candidate is to be selected
if the candidate is not to be selected

www.sakshieducation.com
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196 S00d 200 S5 Ke @iﬁuﬁa Jodsen : fod Jdrorod) eidr S8 ol §od -:51.552.:'&.‘:5
PHos JdrgriEns), '

w8 B30p BOTUS SoP S0FES w85 IXEITIE JnosSes Bod cnBgaTTon.

sessge SaR%0m

@ m m o 0w p

EQ0 60% Srty o8 rhydhd Sir somrd;
FQurdogsoas dogd Ph.D &

E0%0 3 Josddsne HRFSS wdto

08 0N 2D Fhod' TEH

Ehd0 5 HOFES DEe P

199378 | 288 25 Boddioren 88,5 shom, | 2l Roldicet D0dd Sakidy,
THES whEAGS' 8PS EDA Somd.

BT wE wgh

) AdD) 1NOS o) Hirered ) o, FHTEgEhE STt 55% Jod Srdy, e
Fod o8, wdd Tl Heh Twg, B0E6 SHE ST T,

i) C &5y DADS 0 PIFEmeS SRHBET, mowo BOEE GE SkkoTd.
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28 year old Sridhar has obtained his Ph.D degree and is a post-graduate with 70% marks.
He has diploma in Statistical Applications and research experience of 2 years. He has got
published 5 rescarch papers and is fluent in English and Hindi.
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27 year old Venu is post-graduate with 61% marks and has obtained Ph.D degree. He is
fluent in Hindi and English. He has. got 5 rescarch papers-published and has research
experience of 4 years. He hascompleted diploma in Statistical Applications.
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32 years old Ananth has obtain Ph.D degree and diploma in Statiztical Applications. He

obtained 53% marks in post-graduation. He has research experier. e 00’4 years and has got
published 6 research papers. He is fluent in En glish and Hindi
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Padma has obtained Ph.D degree and dinionia in Statistical Applications. She has 65% marks
in post-graduation. She has resea, h ccperience of 4 years and has 6 research papers
published. She is fluent in Hindi an4 Cnglish. Her date of birth is 7th September 1958,
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Raghu is posi- zraduate with 56% marks and has obtained Ph.D degree. He is fluent in Hindi
and Englsi.. He %::rl 3 research papers published and has research experience of 4years. His
date of buth is 4'h September 1958. He has obtained diploma in Statistical Applications.
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